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Math _W10 _prim5_T1

Grade 5 - Week 10 - Weekly Assessment (1)"

Find the result: 100 x 25

Find the result: 0.1 X 360

Use the standard algorithm to find the product: 3 x 2.5

Find the product: 0.4 x 0.3

Judy'’s step length is 0.72 meters. What is the total distance Judy will walk after
taking 1,000 steps, in meters?

Grade 5 - Week 10 - Weekly Assessment (2)"

Find the result: 1000 x 25

Find the result: 10 % 4.7

Use the standard algorithm to find the product: 5 X 0.35

Find the product: 0.5 x 0.9

A box of apples weighs 18 kg. What is the total weight of 10 boxes of the same

type?
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Grade 5 - Week 10 - Weekly Assessment (3)"

1. Find the result: 10 x 4.2

2. Find the result: 0.01 x 52

3. Use the standard algorithm to find the product 0.32 x 7

4, Find the product: 0.8 X 0.7

5. Nadia bought 10pencils of the same type, with each pencil costing 8.9 pounds.
What is the total amount Nadia will pay?






